Multiplication et Division par 0,01 (I)

Trouvez chaque produit ou quotient.

6,22 X 0,01 = 2,4+0,01=
5539 +0,01= 2,6799 +- 0,01 =
6,5 % 0,01 = 5,4855 x 0,01 =
561-+0,01= 6,77 X 0,01 =
7,72+ 0,01 = 1,875 x 0,01 =
9,58+ 0,01 = 6,3612 + 0,01 =
3,937 X 0,01 = 1,74 x 0,01 =
3,927 X 0,01 = 3,4258 + 0,01 =
2,8+0,01= 8,3653 + 0,01 =
1,37+ 0,01 = 7,8 0,01 =
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Multiplication et Division par 0,01 (I) Solutions

Trouvez chaque produit ou quotient.

6,22 X 0,01 = 0,0622

5,539+ 0,01 =553,9

6,5 % 0,01 =0,065

561+ 0,01=561

7,72+ 0,01 =772

9,58 = 0,01 =958

3,937 x 0,01 =0,03937

3,927 x 0,01 =0,03927

2,8 +0,01=280

1,37+ 0,01 =137

2,4+ 0,01 =240

2,6799 - 0,01 =267,99

5,4855 x 0,01 = 0,054855

6,77 X 0,01 = 0,0677

1,875 x 0,01 =0,01875

6,3612 + 0,01 = 636,12

1,74 x 0,01 =0,0174

3,4258 +- 0,01 = 342,58

8,3653 +- 0,01 = 836,53

7,8 0,01 =0,078
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